zh

B TB-WS41 kR ISR

tool excellence

1.

7 3 FHIER VRS )5 i 2 Super BE fidnttp://www.superbiketool.com/ill f °
1 yégﬁ;ﬁ%;ﬁﬂﬂ ¥E%2 Product s Product List mp Work stands s TB-WS41

2 | B T HijY
TATHIY DT

2.0 THET A HEW - dnlE =)
3B _Liroi

L hshest @ MRkt - 208K % L LE @) ik
(sl —) RHERLISbESH D 2 RHER
HEERLAL - (mls )

AP (D > SR I o R
AR D LUSIEIE - Hite

R O UL (piasetd 2 CATIIITIVCN O BOICGTH 3. IR PR
Ny ] ° i M il 7
WA © Dl O ol '(ﬁﬁ%% T 7

(173)

g2 Y

4| KFIEPE GEIC)

1 IEPEICBITB-WS | SERJEACHCLT -
Z.Lﬁgj%w(iqﬁﬁiﬁﬁi,%ﬁﬁﬁﬁ%ﬁﬁ] o (ImiEL)
5 TﬁMMmgﬁgg& TB-WS4 1 HRE NI

Bk ~ IS - M10BEIE* 4PCS
© MI0WFEET]*4PCS

[ﬁﬁfgﬁﬁﬁﬁﬁﬁsokgs ) E MI0BERBRF * 4PCS

A ﬂfﬁ o (EE) E E
1. BRI T PEnG - SR HAE - SR A FT B PR (D SR - 300 O S0 6 00 985 e T R V0 ol e e 4 e -
2 SR UANT e PR o DL o il P4 52 1 -
3 NI BB hi s iest @ kAL -
4 PEAIE S o G IREIRE S P TR 7P B B2 1T - o o o W B ke N L 52 155 B S P B -

01.00.2024.05.06




en

B TB-WS41 Double clamp fixed work stand

tool excellence Instructions

See the operation detail on Super B Website:https://www.superbiketool.com/
l Asse m b Iy Click:Product = Product list » Work stands » TB-WS41

2 | Tool tray assembly

1.Release the quick release.

2.Place the tool tray into the 2-ear (hole)
collar. (see picture 3)

3.Fasten the quick release.

Quick release lever
ool tray

( Picture 2)

2.Assemble the clamp (1) on the top

1.Release and pull the locking tube (2) and push it until the locking

knob ® up. (see picture 1) knob (3 is positioned at the locating hole. :
( see picture 2) (Picture 3)

2-ear (hole) collar

3| Instruction

A
wlii
A,

( Picture 4) ( Picture 5) ( Picture 6)
1.Release the quick release (@), adjust the desired 2.Pull the handle up to open the 3.Secure the tube/frame by push
height of work stand, and then secure the quick clamp @, put the tube/frame the handle back. ( see picture 6)
release @) . Pull up the locking knob (3, into the clamp (D then turn the
choose the desired locking place, make locking hex nut to adjust the opening of

knob () to fix in the locating hole and tighten the ~ clamp @to secure the tube/frame.
locking knob () to set the direction of the clamp ~ ( see picture 5)
. (see picture 4)

4 | Floor base assembly(optional)

1.TB-WS13 floor base is optional for TB-WS41.

2.Please note the side of the floor base with the logo
label should be facing upward. ( see picture 7)

3.Please use an 6 mm hex key

and a 13mm open-end TB-WS41 includes:
wrench to secure the screws % M10 nut*4PCS
and nuts.

& M10 spring washer

*4PCS

[ﬁMax load 50 kg per cIamp) E M10 bolt*4PCS

A Note '™ (Picture 7) E E

1.Please avoid overtightening the clamp @ to prevent the damage to tubes/frames.

2.To prevent damage to the frame and seat tube, please clean the frame before securing the clamp.

3.Ensure the locking knob (3) is positioned correctly in the locating hole before use.

4 When using the work stand, always pay attention to the balance and stability of the stand to prevent the
product from tipping over and causing personal injury or property damage.

01.00.2024.05.06




de

" TB-WS41 Montagestander mit Doppelklemmung
Anleitung

tool excellence

Details finden Sie auf Super B website:
l Montage https://www.superbiketool.com/
Click:Product =» Product list % Work stands = TB-WS41

2 |Werkeugablage Montage

1. Schnellspanner I6sen.

2. Werkzeugablage positionieren 2-loch
(Siehe Abb. 3)

3. Schnellspanner schlief3en.

QR Hebel

(Abb. 2)

2.Montieren Sie die Klemme(?) auf

. - 2-Loch
1. Lésen und ziehen Sie den das Rohr(2) und driicken Sie
Verschlussring, Knopf ) diese soweit (3) bis der
hoch. (Siehe Abb. 1) Verriegelungsknopf in der

Bohrung einrastet. (Siehe Abb. 2)

3 | Anleitung

(Abb. 4 (Abb. 5) (Abb. 6)

1. Schnellspanner I6sen @ gewlnschte Héhe 2. Ziehen Sie den Griff um die Klemme 3. Klemme schlieRen
einstellen und anschlieBend den Schnellspanner zu 6ffnen@, Fahrrad / Rahmen in (Siehe Abb. 6)
schlieBen (4) . Verschlussknopf ziehen (3) , die Klemme setzen (1) zum justieren
Winkel einstellen (3) anschlieRend den die Hex Schrauben drehen (1) um
Verriegelungsknopf im Aufnahmeloch einrasten das Fahrrad / den Rahmen zu
(@ Aufnahmewinkel ist eingestellt @. sichern. (Siehe Abb. 5)

4 | Bodenplattenmontage (optional)

1. Die TB-WS13 Bodenplatte ist optinal fir den TB-WS41.

2. Bitte beachten Sie, dass die Seite des Boden mit dem Logo
Etikett nach oben gerichtet ist. (Siehe Abb. 7)

3. Benutzen Sie einen 6 mm Innen-
sechskantschliissel und einen 13 | TB-WS41 Inhalt:

mm Maulschliissel um die .(.\9.‘ M10 Mutter x 4pcs
Sch'rauben und Muttern zu be- @& M10 Unterleg
festigen.

scheiben x 4pcs

[A Max. 50 kg pro klemme ) E )'Y'Jfgczcmaube

/\ Zu beachten!

1. Klemme nicht zu fest anziehen @ um Beschadigungen am Fahrrad / Rahmen zu vermeiden.

2. Um Beschadigungen zu vermeiden, reinigen Sie das Fahrrad / Rahmen bevor Sie die Klemme schliel3en.

3. Vergewissern Sie sich das der Verriegelungsknopf@ richtig und fest in der Aufnahmebohrung sitzt.

4. Achten Sie bei der Verwendung des Montagestanders immer auf das Gleichgewicht und die Stabilitat des
Standers, damit dieser nicht umkippt und Personen- oder Sachschaden verursacht.

01.00.2024.05.06




fr

SIS TB-WS41 Pied d'atelier a 2 tétes de fixation

tool excellence Instructions

Voir le détail du montage sur le site web de Super B:

l InStrUCtionS de montage https://www.superbiketool.com/
Click:Product =» Product list % Work stands = TB-WS41

2 | Assemblage du plateau
outils

1. Desserrez le blocage rapide.

2. Palcez le plateau a outils dans le collier
a trous. (voir image 3)

3. Ixez I'attache rapide.

Orifice de
positionnement

Levier du blocage rapide

(Image 2)

2. Assembler la pince (D sur le tube &
1. Desserrez et tirez la mollette supérieur Q) et la pousser jusqu'a ocollier  trome
de verouillage (3) vers le ce que la mollette de verrouillage - o
haut. (voir image 1) () soit positionnée sur l'orifice de booeees 4 Plateau a outils
positionnement. (voir image 2) (Image 3)

3 | Mode d'emploi

I Ajustement de la

hauteur "'

(Image 4) (Image 5) (Image 6)
1. Libérez le blocage rapide@, ajustez la hauteur 2. Tirez la mollette vers le haut pour 3. Fixez le tube/cadre en poussant
désirée du support de travail, puis fixez le blocage ouvrir la pince@, mettez le la poignée vers l'arriére.
rapide @ Tirez vers le haut la molette de tube/cadre dans la pince @ puis (voir image 6)
verrouillage @ choisir I'espace de verrouillage tournez I'écrou hexagonal pour
désiré, fixer la molette de verrouillage@ dans ajuster 'ouverture de la pince @
I'orifice de positionnement et serrez la molette de afin de sécuriser le tube/cadre.

verrouillage @ pour régler l'orientation de la pince (voir image 5)

4 | Assemblage du socle de sol
(en option)

. Le socle de sol TB-WS13 est en option pour le TB-WS41.

2. Veuillez noter que le c6té du socle de sol portant I'étiquette
du logo doit étre orienté vers le
haut. (VOII' |mage 7) Inclus avec TB-WS41:

3. Veuillez utiliser une clé allen de % Ecrous M10 x 4pcs
6 mm et une clé plate de 13 mm @ Rondelles frein M10
pour , pour fixer les vis et les x 4pcs

écrous.
Vis M10 x 4pcs

[A Charge maximale de 50 kg par pince)

/\ Remarque i magen B &

1. Veuillez éviter de trop serrer le coIIier@pour ne pas endommager les tubes/cadres.

2. Pour éviter d'endommager le cadre et le tube de selle, nettoyez le cadre avant de fixer le collier.

3. S'assurer que le bouton de verrouillage@ est positionné correctement dans l'orifice de positionnement avant utilisation.

4. Lors de l'utilisation du pied d'atelier, veillez toujours a I'équilibre et a la stabilité du pied afin d'éviter que le produit ne
bascule et ne provoque des blessures ou des dommages matériels.

RN

01.00.2024.05.06




